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AFE LT g 8 = = Qi@ /2| SU(d) | 2Ny
2019.07.01 M2412| Lol ezl =0 mE Y =148 g4 17 335,000 7tE
2019.07.02 2412 L2z iz SEE fIot 7|Xiete| 7HE3| 4 3 42,000 7=
2019.07.09 2019 O ESi=E2% WY SEE 2T 7[Rte] 2tEHz 54 3 60,000 7=
2019.07.11 O|FX=m X2E Rt AR E7tet 7HER] 24 7 100,000 7=
2019.07.16 2019 O ESi=E% OFSHN SEE T 7|Xetel 2tEHz] 54 3 65,000 7t=
2019.07.23 2019 EL si+2% HELEO M2 MOl 4 14 194,000 7tE
2019.07.24 ZRAEoz sEARRY HEZ|EE 7Y 15 300,000 7tE
2019.07.30 ZRAZoz| AKX SR [ME 7HEHZ] 4 3 42,000 7=
2019.08.06 Aotk @MAO|Z7F =TT TIXte] 7tz F4 6 161,000 7t=
2019.08.08 Aottt @MAL XA SHESHLS Y| BAXRL 2HE 2| S4 9 339,800 7=
2019.08.13 24232 Loz A0 =0 ME X =02 F4 5 75,000 7=
2019.08.20 AL MAO|E7F HE R0 e AKX 7HE2] F4 5 75,000 7=
2019.08.22 M MAO|E7 HXEFF 48 H20f [ME 7|Xtete| ZtE | Z4 4 61,500 =
2019.08.24 S FR O|FAWAL HAMoIY FA 8 64,000 7tE
2019.09.05 ZE 7|2 HENY =AY SEseE HAo Y =4 5 40,000 =
2019.09.05 2019 F=MGH0| &% H2AY HAHE 78 12 600,000 H ZtO| A
2019.09.06 245 WAL QYT AU A FA 4 53,000 7tE
2019..09.06 2019 FAGHo| L Fa7|2H(HL) d2HE +2 140 2,400,000 7tE
2019.09.09 2019 F=MGHO| ALY Fa7|2 HWFZEX 4HE & T2 10 490,000 A ZFO| |
2019.09.10 dAI 2 HIE T S2Ho|T Y BAKRL ZHED ZA 4 76,000 7t=
2019.09.16 A% A YEFY =04 4 6 90,000 7t=
2019.09.16 AELAX 22 X GELME 7+ 3 147,000 A ZHO| A
2019.09.20 MM MAO| 57t 2B IS E7 2520 ME 7|Xtete| 7HED] F4 6 144,000 7=
2019.09.23 Aoz o YZHEHB| JHE[Of [HE A 14 242,000 =
2019.09.24 OMYT Y LEFT A FA 3 40,000 7t=
2019.09.30 Mol QMAO|Z7F AFYHFTI 23 J|Xteto| 7HED| Z A 4 56,500 7tE
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